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Answers

1. 3

2. 1

3. 1

4. 1

5. 3

6. 3

7. 4

8. 0

9. 0

10. 2

11. 0

12. 8

13. 0

14. 0

15. 8

16. 5

17. 9

18. 0

19. 0

20. 0

Use multiplication rules to determine the missing remainder for each problem.

1) 8,948÷5 = 1,789 r     3      2) 6,651÷2 = 3,325 r     1      

3) 449÷2 = 224 r     1      4) 9,201÷5 = 1,840 r     1      

5) 7,913÷10 = 791 r     3      6) 78÷5 = 15 r     3      

7) 5,994÷5 = 1,198 r     4      8) 6,980÷5 = 1,396 r     0      

9) 334÷2 = 167 r     0      10) 47÷5 = 9 r     2      

11) 480÷5 = 96 r     0      12) 6,888÷10 = 688 r     8      

13) 9,620÷10 = 962 r     0      14) 678÷2 = 339 r     0      

15) 138÷10 = 13 r     8      16) 75÷10 = 7 r     5      

17) 8,149÷10 = 814 r     9      18) 64÷2 = 32 r     0      

19) 3,172÷2 = 1,586 r     0      20) 236÷2 = 118 r     0      
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